

Citation: Guo X, Zhang J, Xu Z, Cong X, Zhu Z (2021) The efficiency of provincial government health care expenditure after China's new health care reform. PLoS ONE 16(10): e0258274. https:// doi.org/10.1371/journal.pone.0258274

Editor: Carlos Alberto Zúniga-González, Universidad Nacional Autonoma de Nicaragua Leon, NICARAGUA

Received: June 30, 2021

Accepted: September 22, 2021

Published: October 13, 2021

Copyright: © 2021 Guo et al. This is an open access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.

Data Availability Statement: All relevant data are within the paper and its <u>Supporting Information</u> files.

Funding: This work was supported by the research plan of the Health policy of Health Commission of Shandong Province China (No.WZY201976), Yantai Federation of Social Sciences, Yantai, Shandong, China (No.YTSK2018-Y-105) and Annual Project of Social Science Foundation of Shaanxi Province: Study on urban Complex disaster risk management mechanism in Shaanxi **RESEARCH ARTICLE**

The efficiency of provincial government health care expenditure after China's new health care reform

Xuesong Guo^{1*}, Jun Zhang^{1,2}, Zhiwei Xu³, Xin Cong⁴, Zhenli Zhu⁵

1 School of Public Policy and Administration of Xi'an Jiaotong University, Xi'an, Shanxi, China, 2 Yantai Affiliated Hospital of Binzhou Medical University, Yantai, Shandong, China, 3 Department of the Quality and Management of the Medical, Yantai Affiliated Hospital of Binzhou Medical University, Yantai, Shandong, China, 4 Department of Communist Youth League of the Medical, Yantai Affiliated Hospital of Binzhou Medical University, Yantai, Shandong, China, 5 Department of Education, Yantai Affiliated Hospital of Binzhou Medical University, Yantai, Shandong, China

* xuesongguo@mail.xjtu.edu.cn

Abstract

Objective

We aim to estimate the total factor productivity and analyze factors related to the Chinese government's health care expenditure in each of its provinces after its implementation of new health care reform in the period after 2009.

Materials and methods

We use the Malmquist DEA model to measure efficiency and apply the Tobit regression to explore factors that influence the efficiency of government health care expenditure. Data are taken from the China statistics yearbook (2004–2020).

Results

We find that the average TFP of China's 31 provincial health care expenditure was lower than 1 in the period 2009–2019. We note that the average TFP was much higher after new health care reform was implemented, and note this in the eastern, central and western regions. But per capita GDP, population density and new health care reform implementation are found to have a statistically significant impact on the technical efficiency of the provincial government's health care expenditure (P<0.05); meanwhile, region, education, urbanization and per capita provincial government health care expenditure are not found to have a statistically significant impact.

Conclusion

Although the implementation of the new medical reform has improved the efficiency of the government's health expenditure, it is remains low in 31 provinces in China. In addition, the government should consider per capita GDP, population density and other factors when coordinating the allocation of health care input.

Province (2021E017). The funders had no role in the study design, data collection, and analysis; decision to publish; or preparation of the manuscript. The authors declare no conflicts of interest.

Competing interests: The authors have declared that no competing interests exist.

Abbreviations: NHCR, New Health Care Reform; DEA, Data Envelopment Analysis; DMU, Decision Making Unit; TFP, Total Factor Productivity; EC, Efficiency Change; TC, Technology Change; PEC, Pure Efficiency Change/Pure Technical Efficiency Change; SEC, Scale Efficiency Change; TE, Technical Efficiency; GDP, Gross Domestic Product; CCR, Charnes Cooper Rhodes; BCC, Banker Charnes Cooper; CRS, Constant Returns to Scale; VRS, Variable Returns to Scale; OLS, Ordinary Least Square.

Significance

This study systematically analyzes the efficiency and influencing factors of the Chinese government's health expenditure after it introduced new health care reforms. The results show that China's new medical reform will help to improve the government's health expenditure. The Chinese government can continue to adhere to the new medical reform policy, and should pay attention to demographic and economic factors when implementing the policy.

1. Introduction

It is well known that health care institutions experienced many problems in China after the SARS outbreak in 2003, and that they affected the implementation of health care policy reform. Although China's provincial health care expenditure increased every year, and the government established a basic medical system that covers both urban and rural residents, high medical costs continue to be a widespread problem. The "China Youth Daily" proposed that unsuccessful Chinese medical reform should be brought to an end. This proposal was published by the Department of Medicine and Health System Reform in 2005, which is accountable to the Development Research Center of the State Council. Health care reform also almost failed in the period 2004–09 because the popular burden of health care became heavier. China therefore launched a new round of health care reform in 2009, which mainly sought to enhance the government's leadership and increase health care investment. This medical reform program proposed that governments should increase their spending by 850 billion yuan to support medical and health care reform in 2009–2011. As a consequence, the proportion of total health expenditure to gross domestic product (GDP) increased from 4.55 in 2008 to 6.64 in 2019. Government spending on health care grew much faster than GDP, and this underlined the Government's determination to solve the problem. But the challenges of reform were greater than other fields, as the health care system is complex and reformers must take demographic, economic, political and social factors into account [1]. New health care reform (NHCR) has been implemented for more than ten years. China's aging population is growing and demand for medical and health care has greatly increased. The new rural medical insurance that the Chinese government introduced in 2009 covers more people, and has further stimulated popular demand for medical treatment [2]. Although the Chinese government has increased its investment in health care, the country's medical and health care service supply has been unable to meet rapidly growing demand, which has produced supply-demand imbalance, tensions between doctors and patients and rapidly rising medical costs [3]. The neglect of the efficiency of government health care expenditure has created many difficulties for the optimization of health care expenditure. The main problems include: (1) insufficient and unbalanced health care investment in the eastern, central and western regions; (2) the distribution of health care resources, which have taken the form of "inverted pyramid" that mainly concentrates highquality health care resources in developed regions; (3) a 'mismatch' between substantial increases in health care expenditure and patient access to medical treatment. As a result, the doctor-patient relationship has become more difficult.

In addition, the COVID-19 pandemic presents a huge challenge to the country's health care provision and governance. It is essential for the country's health care services to improve the efficiency of government health expenditure, as this will help to solve existing health care problems. While it is therefore time to evaluate the government health care expenditure of the new health care reform, domestic and foreign scholars have not systematically evaluated the efficiency of this round of new health reform.

Health care expenditure has therefore been recognized as a growing burden on the level of economic development in most nations and as a principal factor in the determination of country development balance [4]. The performance evaluation of many sectors, including health care systems, were challenging and provided a useful decision-making tool that sought to optimize resource use [5]. Research into the health care system's output efficiency mainly falls into two categories: the first is the traditional parameter-type method based on the production function, and the second is non-parametric data envelopment analysis (DEA). But most studies try to evaluate and measure the health care system's relative efficiency by using cross-sectional data [6–19]; in contrast, few studies have aimed to analyze the efficiency of government health care expenditure, and this is especially true of the analysis of panel data.

A number of previous studies focus on the efficiency of the health care system or hospitals. Qian Li assesses the efficiency of county public hospitals in Shandong Province after China's NHCR and compares the efficiency of hospitals with different bed sizes [6]. Xu Meimei evaluates the scientific research efficiency of tertiary hospitals in China and focuses on the decision-making of scientific research departments in China [20]. Jing Liu uses a three-level growth model to identify determinants that contribute to efficiency changes in public county-hospitals over time [21]. Gong Guangwen uses network DEA to evaluate the two substage efficiencies of China's healthcare system after the implementation of health care reform [1]. RY Gai assesses trends in the productive efficiency of China's county hospitals during the economic transition by using data from the period 1993–2005 [22]. Haniye Sadat Sajadi measures efficiency and productivity changes in the Iranian health care system and also assesses its progress towards UHC by making a comparison with 36 upper-middle-income countries [23]. Garcia-Cornejo uses public data taken from 159 hospitals in the Spanish National Health System (NHS) in the period 2010–13, and analyzes if the development of hospital cost systems (CS) implemented by the Spanish Regional Health Services (RHS) has affected hospital efficiency [24].

Mehmet Top measures the health care system efficiency of 36 African countries and compares efficiency levels between countries [25]. Berger analyzes the association between Soft budget constraints (SBCs) and hospital efficiency change in a setting where there is with negligible risk of hospital closure. He applies a two-stage analysis based on bias-corrected non-radial input-oriented DEA and ordinary least squares regression (OLSR) [26]. Babalola assesses the technical efficiency (TC) and productivity of public district hospitals in South Africa's Kwa-Zulu-Natal province [27]. Vidhya analyzes changes in the TFP index of an Indian state's public district hospitals in the period 2013–2017 with the aim of identifying their efficiency patterns after the implementation of HMIS (Health Management Information System) [28].

In China, medical and health care institutions are still dominated by the government, which has taken a significant step towards accelerating the decision-making process with the intention of improving the performance of health care systems in different provinces. Taking into account the unbalanced allocation of health resources and the increasingly obvious contradiction between supply and demand, it is extremely important to effectively improve the total factor productivity (TFP) of government health care expenditure and make full use of regional health resource, as this will help to meet growing resident demand for health services. In this article, factors that influence government health care expenditure are therefore analyzed with the intention of providing evidence-based policy insights that will contribute to improvements in health care efficiency. Since 1994, China has implemented financial decentralization. Under the context of financial decentralization, China's central government health expenditure is mainly borne by the local government. This study uses the non-parametric data envelope analysis (DEA) method to measure the efficiency of China's provincial government health care expenditure in the first stage. It then uses the restricted variable Tobit random effect panel model to do regression analysis, and this make it possible to find factors that may affect local government health care expenditure efficiency. This study uses two-stage analysis, to try to answer the following questions: First, how does the efficiency of China's local government health care expenditure? Is there a difference in efficiency in different regions? What factors affect the efficiency of government health expenditures?

2. Materials and methods

2.1 The Malmquist DEA model

DEA has been widely used to evaluate productivity and efficiency in various fields [29–35], especially seeks to efficiently examine the efficiency of health care providers [36–38]. This study combines the BCC (Banker Charnes Cooper) model [39] with the Malmquist Index Model and undertakes data envelopment analysis (DEA) [40] with the aim of evaluating and analyzing the efficiency of provincial government health care expenditure in China. DEA is a non-parametric technical efficiency evaluation method: it does not only calculate the relative efficiency score of decision-making units (DMU), but also highlights aspects of excess input or insufficient output for DMUs that are not effective in DEA, and it enables decision-makers to rely on the data when adjusting structure and improving operations [41,42]. This method uses linear programming to construct an efficient convex production frontier, and identifies the relative level of efficiency by comparing it against this frontier. DEA can be divided into three categories: a single-stage BCC-DEA model based on variable return on scale [41]; a single-stage BCC-DEA model based on variable return on scale [42]; and a Malmquist DEA model based on intertemporal analysis [40].

The DEA-Tobit two-stage framework can be used to analyze the influence of various economic, social and policy factors on the efficiency of government expenditure, and it can be implemented on the basis of calculating the efficiency of government expenditure. In addition, the analytical framework has several technical advantages: first, the output of government health care expenditure includes multiple aspects, and the DEA method is uniquely able to deal with the efficiency accounting problem of multi-input and output; second, DEA is a nonparametric estimation method, which means it can effectively avoid the problem of model setting error; finally, the Tobit Regression Model can overcome the interception problem of efficiency distribution. Whereas most previous studies focus on static analysis, this study mainly provides a dynamic analysis of efficiency. The output of government health care expenditure has many different aspects, and so DEA is used to evaluate a group of DMUs with multiple inputs and outputs. We select the output orientation and Malmquist productivity concept that originated in the Malmquist index [40]. The earliest Malmquist index is obtained by DEA, and the Malmquist index is decomposed into two aspects: the first is evaluation DMU during two periods in the change of technical efficiency, and the second is the change of production technology, which reflects changes in the production frontier in DEA analysis [40]. The reference of adjacent joint frontiers is adopted, and the "DMU" of two adjacent periods is used to jointly construct a common front. The Malmquist index can be decomposed into efficiency (EC) and technology change (TC):

$$M(x^{t+1}, y^{t+1}, x^{t}, y^{t}) = \frac{E^{t \cup (t+1)}(x^{t+1}, y^{t+1})}{E^{t \cup (t+1)}(x^{t}, y^{t})} = \frac{E^{t+1}(x^{t+1}, y^{t+1})}{E^{t}(x^{t}, y^{t})} \left(\frac{E^{t \cup (t+1)}(x^{t+1}, y^{t+1})}{E^{t+1}(x^{t+1}, y^{t+1})} \frac{E^{t}(x^{t}, y^{t})}{E^{t \cup (t+1)}(x^{t}, y^{t})}\right)$$

= EC × TC (1)

 x^{t+1}, y^{t+1} mean the input indicator and output indicator in the period; t+1, x^t, y^t mean the input indicator and output indicator in the period t; $E^{t\cup(t+1)}(x^{t+1}, y^{t+1})$ means the MI in the period; t+1; $E^{t\cup(t+1)}(x^t, y^t)$ mean the MI in the period t; $\frac{E^{t+1}(x^{t+1}, y^{t+1})}{E^{t}(x^t, y^t)}$ means the EC and; $\frac{E^{t\cup(t+1)}(x^{t+1}, y^{t+1})}{E^{t}(x^{t+1}, y^{t+1})} = \frac{E^{t}(x^t, y^t)}{E^{t\cup(t+1)}(x^t, y^t)}$ means the TC. The meaning of the Malmquist Index follows: greater than 1 indicates a productivity increase, while less than 1 is a productivity decrease; a technological change less than 1 indicates technological decrease.

Färe et al. use an enhanced decomposition of the Malmquist index [40], which divides the efficiency change into the constant returns to scale technology change, pure technology efficiency change and a residual scale that captures changes in the deviation between variable returns and constant returns to scale technology [43]. The FGNZ [43] decomposition method is based on FGLR [40] decomposition, and further decomposes EC into PEC (Pure efficiency change or pure technical efficiency change) and SEC (Scale efficiency change).

This study calculates the TFP of provincial government's health care expenditure by drawing on the panel data of 31 provinces in China in the period 2004–2019. The model calculates a set of Malmquist TFP and its decomposition indexes: technical efficiency change (TEC) and scale efficiency change (SEC);

$$MI = EC * TC = PEC * SEC * TC$$
⁽²⁾

2.2 Variable selection

We take 31 provinces in China as 31 DMUs. The input variable is the provincial government health care expenditure in the period 2004–2019; output variables include the three health resources that represent the supply capacity of health care services, the number of health institutions, the number of beds in health institutions and the number of health care technicians (See Table 1).

2.3 Panel data Tobit model

The Malmquist DEA model focuses on the efficiency of the health care input and output, but does not consider some other relevant influential factors. The DEA-Tobit two-stage analysis framework is generally used to deal with this problem [44]. In the first stage, the DEA model is used to calculate the efficiency score of each DMU. The second stage is the regression of efficiency score that considers various relevant factors. Moran and Jacobs apply a two-stage DEA model that analyzes the efficiency of healthcare systems in 32 OECD countries, and then determine the relationship between the environmental factors and the efficiency performing Tobit regression analysis [45]. Medin evaluates the efficiency of hospitals in Nordic countries by applying the DEA and Ordinary Least Square (OLS) regression analysis methods [46].

We draw on these studies [1,44,47,48] and select related factors in population, economy and society. We select per capita GDP, the illiterate population aged 15 and over (by region), the proportion of the urban population at the end of the year (by region), population density (by region), application of the NHCR and per capita provincial government health care expenditure since 2009. We add dummy variables that represent the three regions into the regression equation to test if there are regional differences in the efficiency of government health care expenditure The regions are then divided into the eastern (Beijing, Fujian, Guangdong, Hainan, Hebei, Jiangsu, Liaoning, Shanghai, Shandong, Tianjin, Zhejiang,), central (Anhui, Heilongjiang, Henan, Hubei, Hunan, Jiangxi, Jilin, Shanxi,), and western region (Chongqing, Guizhou, Gansu, Guangxi, Inner Mongolia, Ningxia, Qinghai, Yunnan, Shaanxi, Sichuan, Sinkiang, Tibet), in accordance with China's seventh Five-Year Plan.

Malmquist DEA model Variables		Definition				
Input	Provincial government health expenditure	Government health expenditure refers to the funds that governments, of all levels, use for various purposes, including medical and health services, medical security subsidies, health and medical security management and population and family planning affairs.				
Output	Medical and health institutions	The units that obtain the license of medical institution practice from the health administration department or obtain the registration certificate of legal person unit from the civil affairs, industrial and commercial administration department. They obtain the permission of the organization establishment administration department to provide medical care, disease control, health supervision services or engage in medical scientific research and medical on-the-job training. Medical and health institutions include hospitals, primary medical and health institutions, specialized public health institutions and other medical and health institutions.				
	Health technicians	Health workers in primary hospitals, medical and health institutions, professional public health agencies and other institutions focused on medical and health work. (B) Workers include health technicians, rural doctors and medical corpsman and other technical personnel, management personnel and logistical personnel. All are paid an end-of-the-year salary and are included in employee statistics.				
	Beds of the medical institution	The number of beds refers to fixed existing beds (non-established beds) at the end of the year, including regular beds, cots, monitoring beds, beds in the process of disinfection and repair and beds discontinued due to expansion or overhaul. This category excludes neonatal beds for obstetrics, waiting beds for delivery in delivery room, stock beds, observation beds, temporary extra beds and patient home care beds.				
Tobit regression model Variables		Definition				
Region		In this study, regions are divided into the eastern (Beijing, Tianjin, Hebei Liaoning, Shanghai, Jiangsu, Zhejiang, Fujian, Guangdong, Hainan, Shandong), central (Shanxi, Jilin, Heilongjiang, Anhui, Jiangxi, Henan, Hubei, Hunan) and western (Sichuan, Chongqing, Guizhou, Yunnan, Tibet, Shaanxi, Gansu, Qinghai, Ningxia, Sinkiang, Guangxi, Inner Mongolia) regions, and these distinctions are made on the basis of China seventh Five-Year Plan.				
Economic		Per Capita GDP				
Education		Illiterate Population Aged 15 and Over (by Region)				
Urbanization		Proportion of Urban Population at Year-end (by region)				
Population		Population density by (region)				
Related policy		Health care interventions since 2009				

Table 1. Definition of the variables.

https://doi.org/10.1371/journal.pone.0258274.t001

The data type is balanced panel data and the dependent variable is the comprehensive technical efficiency score between 0 and 1. In order to make full use of the cross-section and time series information contained in the panel data and avoid errors caused by OLS estimation, we use the limited Tobit random effects panel model to conduct regression analysis. In order to establish the efficiency score of government health care expenditure for 31 Chinese provinces in the period 2004–2019, we incorporate panel data into the Panel Data Tobit Model:

$$Y_{it} = x'_{it}\beta + \alpha_i + \varepsilon_{it} \tag{3}$$

 Y_{it} is the TC of the 31 provinces in China in the period 2004–2019; α_i is the individual heterogeneity that is not observed and does not change over time; x'_{it} is the TC's impact on social, economic and policy variables, including population density (people/km2), per capita GDP (yuan(¥)/person), illiterate population aged over 15 years-of-age, illiteracy rates, the fiscal decentralization index, health policy virtual variables, the features of the three regions and

regional interaction between virtual and policy variables. The data type is balanced panel data and the dependent variable is the comprehensive technical efficiency score between 0 and 1. In order to make full use of the cross-section and time series information contained in the panel data and avoid errors caused by OLS estimation, we use the limited Tobit Random Effects Panel Model to conduct regression analysis.

2.4 Data source and statistical analysis

We use panel data from 31 provinces for the period 2004–2019. Data are divided before (2004–2009) and after (2010–2019) the NHCR. SPSS 22.0 is used to describe input and output in 31 of China's provinces. The Malmquist DEA measurement process is calculated by Max-DEA8.18, and the Tobit Regression Model is calculated by STATA 16.0.

3. Result

3.1 Basic information on input and output

With regard to the degree of regional economic development, the eastern region is the richest, the central region is moderate and the western region is the worst-off. In the period 2003–2019, the health care expenditure of the provinces increased every year, and the growth rate of the eastern region was larger than that of its central and western counterparts. On the whole, the total medical input and output (including provincial health care expenditure, number of health care beds and the number of health care technicians) are higher in the eastern region than in the central and western regions.

3.2 First stage analysis: Total factor productivity

By drawing on the output-oriented Malmquist DEA model, we calculate the TFP for health care expenditure by the 31 provincial governments. Table 2 showed the TFP of the 31 provinces before health care reform was implemented in the period 2005–2009. With or without the implementation of NHCR, the average TFP of 31 provinces was lower than 1, which indicated the efficiency of China's provincial health care expenditure was inefficient. The average TFP of 31 provinces increased after NHCR implementation, which indicates it improved the efficiency of provincial health care expenditure (See Tables 2 and 3).

3.3 First stage analysis: The decomposition of the TFP (EC, TC)

After NHCR implementation, the average value of TC in the eastern, central and western regions increased. Irrespective of if NHCR was implemented, the EC of each province was found to be greater than TC. Meanwhile, the average value of EC exceeded 1, and the average value of TC was found to be less than 1. Before the implementation of NHCR, the average value of EC in 19 provinces was greater than 1; however, the average value of EC in 21 provinces was greater than 1 after NHCR implementation. Irrespective of NHCR, the average value of TC in 31 provinces was less than 1. This indicates that, in each province, health financial expenditure committed to technology was not sufficient to maintain technological development at a high level. But the average value of TC increased after NHCR implementation, suggesting that while NHCR policies promoted technological improvement, this still fell short of the efficiency frontier.

Region	MI	EC	TC	PEC	SEC
Eastern region	0.8559	1.0754	0.7959	1.0097	1.0650
Central region	0.7993	0.9871	0.8098	0.9816	1.0057
Western region	0.8343	1.0254	0.8136	1.0277	0.9978
Tibet	0.9748	1.1643	0.8372	1.2275	0.9486
Shanxi	0.8982	1.0875	0.8259	1.0774	1.0094
Fujian	0.8962	1.0907	0.8217	1.0877	1.0028
Guangdong	0.8937	1.1284	0.7920	0.9981	1.1306
Hebei	0.8913	1.0883	0.8190	1.0311	1.0555
Zhejiang	0.8902	1.1122	0.8004	0.9838	1.1305
Shandong	0.8868	1.0792	0.8218	1.0000	1.0792
Guizhou	0.8778	1.0668	0.8228	1.0718	0.9954
Jiangsu	0.8772	1.1118	0.7890	0.9717	1.1442
Qinghai	0.8723	1.0592	0.8235	1.0619	0.9975
Shanghai	0.8669	1.1100	0.7810	1.0350	1.0725
Guangxi	0.8633	1.0609	0.8137	1.0510	1.0094
Yunnan	0.8610	1.0593	0.8127	1.0082	1.0507
Beijing	0.8516	1.1223	0.7588	0.9986	1.1238
Tianjin	0.8355	1.1011	0.7588	1.1392	0.9665
Henan	0.8345	1.0165	0.8209	1.0000	1.0165
Ningxia	0.8276	1.0025	0.8255	1.0000	1.0025
Inner Mongolia	0.8080	1.0147	0.7963	1.0169	0.9979
Sinkiang	0.8034	1.0279	0.7816	1.0419	0.9865
Hunan	0.8020	0.9774	0.8205	0.9834	0.9938
Hubei	0.7974	0.9947	0.8016	0.9789	1.0162
Sichuan	0.7947	0.9871	0.8051	0.9899	0.9972
Chongqing	0.7926	0.9818	0.8073	0.9827	0.9991
Shaanxi	0.7850	0.9686	0.8104	0.9703	0.9983
Heilongjiang	0.7830	0.9710	0.8064	0.9636	1.0077
Jiangxi	0.7776	0.9673	0.8039	0.9664	1.0010
Gansu	0.7713	0.9311	0.8283	0.9371	0.9936
Hainan	0.7703	0.9730	0.7917	0.9620	1.0115
Liaoning	0.7688	0.9328	0.8242	0.9179	1.0162
Anhui	0.7671	0.9502	0.8073	0.9440	1.0066
Jilin	0.7446	0.9399	0.7922	0.9452	0.9944
Minimum	0.7446	0.9311	0.7588	0.9179	0.9486
Maximum	0.9748	1.1643	0.8372	1.2275	1.1442
Mean	0.8326	1.0327	0.8063	1.0092	1.0232
Degree of efficiency>1	0	19	0	15	19

https://doi.org/10.1371/journal.pone.0258274.t002

3.4 First stage analysis: The decomposition of the efficiency change (PEC, SEC)

In this study, the EC value is decomposed into PEC and SEC, (EC = PEC*SEC). Before NHCR implementation, average PEC in the eastern and central regions was less than the average change of SEC, while average PEC in the western regions exceeded the average SEC. The average PEC in 15 provinces was greater than 1, and the average SEC in 19 provinces was greater than 1. After NHCR implementation, the average PEC in the eastern, central and western

Region	MI	EC	TC	PEC	SEC
Eastern region	0.9094	1.0098	0.9006	1.0094	1.0004
Central region	0.9139	1.0078	0.9068	1.0129	0.9950
Western region	0.9099	1.0052	0.9053	1.0058	0.9993
Heilongjiang	0.9637	1.0510	0.9169	1.0515	0.9996
Liaoning	0.9574	1.0457	0.9155	1.0447	1.0010
Yunnan	0.9470	1.0249	0.9240	1.0280	0.9970
Jilin	0.9428	1.0401	0.9065	1.0411	0.9990
Beijing	0.9332	1.0390	0.8981	1.0384	1.0005
Chongqing	0.9310	1.0064	0.9250	0.9976	1.0089
Zhejiang	0.9270	1.0297	0.9003	1.0294	1.0003
Sinkiang	0.9269	1.0043	0.9229	1.0003	1.0039
Anhui	0.9186	1.0047	0.9144	1.0143	0.9905
Jiangsu	0.9177	1.0135	0.9055	1.0127	1.0008
Hubei	0.9164	1.0054	0.9115	1.0114	0.9940
Inner Mongolia	0.9159	1.0216	0.8966	1.0225	0.9992
Shaanxi	0.9153	1.0181	0.8990	1.0176	1.0005
Tianjin	0.9150	1.0171	0.8996	1.0151	1.0020
Ningxia	0.9119	1.0102	0.9027	1.0000	1.0102
Shanghai	0.9117	1.0116	0.9012	1.0092	1.0023
Hunan	0.9075	1.0014	0.9062	1.0084	0.9930
Sichuan	0.9067	1.0015	0.9054	1.0051	0.9964
Guizhou	0.9061	0.9966	0.9092	0.9996	0.9970
Gansu	0.9045	1.0076	0.8977	1.0099	0.9977
Shandong	0.8991	1.0000	0.8991	1.0000	1.0000
Guangxi	0.8949	0.9946	0.8997	0.9943	1.0003
Shanxi	0.8941	0.9976	0.8962	1.0000	0.9976
Henan	0.8934	0.9899	0.9026	1.0000	0.9899
Qinghai	0.8904	0.9895	0.8999	0.9960	0.9934
Fujian	0.8903	0.9868	0.9022	0.9849	1.0019
Hebei	0.8883	1.0000	0.8883	1.0000	1.0000
Hainan	0.8857	0.9880	0.8965	0.9675	1.0212
Guangdong	0.8805	0.9784	0.9000	1.0041	0.9744
Jiangxi	0.8773	0.9748	0.9000	0.9782	0.9965
Tibet	0.8711	0.9878	0.8819	1.0000	0.9878
Minimum	0.8711	0.9748	0.8819	0.9675	0.9744
Maximum	0.9637	1.0510	0.9250	1.0515	1.0212
Mean	0.9107	1.0075	0.9040	1.0089	0.9986
Degree of efficiency>1	0	21	0	23	16

Table 3. TFP of the 31 provinces in China after the NHCR (2010-2019).

https://doi.org/10.1371/journal.pone.0258274.t003

regions were all higher than the average SEC. The average PEC in 23 provinces was greater than 1, confirming an increase of 6 provinces after NHCR implementation. The average SEC of the 16 provinces was greater than 1, indicating that NHCR is more focused on improving technical efficiency than expanding scale.

3.5 Second stage analysis: The result of the Tobit regression

The results of Tobit regression analysis were assumed to make it possible to analyze factors that affect the efficiency of the health care system. Because the TFP obtained by dynamic

Related variables	Coef.	Std. Error	р	95%[Conf	f. Intercal]
Region	-0.0146171	0.0131126	0.265	-0.0403773	0.0111432
Per Capita GDP	9.90e-07	4.62e-07	0.032	8.32e-08	1.90e-06
Illiterate Population Aged 15 and Over by Region	-3.69e-07	5.68e-07	0.516	-1.49e-06	7.47e-07
Proportion of Urban Population at Year-end by region	-0.0000608	0.0000468	0.194	-0.0001527	0.0000311
Population density by region	-1.252855	0.1600585	0.000	-1.567296	-0.9384142
New health care conduction	0.0753261	0.0282806	0.000	0.0197679	0.1308843
Government health expenditure	3.34e-06	2.95e-06	0.258	-2.45e-06	9.13e-06
_cons	0.6746997	0.0495504	0.000	5773562	0.7720433

Table 4. The result of the Tobit regression.

https://doi.org/10.1371/journal.pone.0258274.t004

Malmquist DEA was the dynamic change data, MI should be taken as the dependent variable and data of dynamic change should be the independent variable; however, this is not possible as the dependent variable's dynamic data cannot be obtained. Overall efficiency scores obtained from the static DEA base by the BCC model are therefore taken as the dependent variable. Table 4 shows the estimated results of Tobit regression model. Per capita GDP, population density and NHCR implementation are found to have a statistically significant effect on the efficiency of the provincial government's health care expenditures (P<0.05). But region, education level, urbanization rate and per capita provincial financial expenditure are not found to be statistically significant (See Table 4).

4. Discussion

Rapid economic growth in China has increased public interest in health results. Although government health care expenditure increases every year, there are still a number of problems that require an effective response. The efficiency of the provincial government's health care expenditure and influencing factors should therefore be studied in closer detail. This study utilized the DEA to assess the efficiency of government health care expenditure in 31 provinces, and performed the Tobit regression to explore the factors that influences government health care expenditure. The results directly address the three research questions. They demonstrate: (1) the efficiency of Chinese government health care expenditure in provinces in the eastern, central and western regions improved after the lunch of NHCR; (2) the efficiency of the eastern, central and western regions are not obvious different, and the TFP of the central region is relatively high. EC and PEC are efficient in the three regions, while TC is inefficient. The SEC of the eastern region is valid, while the SEC of the western and central region are invalid, and this shows that the TC still needs to be improved after NHCR; furthermore, the central and western regions need to give careful consideration to scale efficiency. The eastern region is however a developed region with more health care investment, and it also has a large population and high-quality health resources, which means it has an efficient scale efficiency; (3) Otherwise, research shows that the efficiency of provincial government's health expenditure is related to population density, per capita GDP and the implementation of NHCR.

Health care system efficiency has been extensively researched, but previous studies have a number of defects: firstly, they were mostly based on cross-sectional data for efficiency accounting, and this makes it impossible to analyze the trend of dynamic efficiency change in government health care expenditure [10,24,27,37,49,50]; secondly, a number of contributions to the literature take health outcomes, such as life expectancy and child mortality, as output variables when calculating the efficiency of health care system; however, various health care resources are the most direct output of government health care expenditure [51]. The

complexity of the health decision process means that using health outcomes as an output of government health care expenditure will inevitably introduce more bias, and this will affect the accuracy of the accounting results. We therefore choose provincial health care expenditure as the input and select the number of health institutions, the number of beds in health institutions and the number of health care technicians as direct variables. They are then used to present the health care output. The main benefit of this approach is that it is consistent with the aforementioned studies [44,52].

This study shows that the efficiency of Chinese government health care expenditure has improved since the implementation of NHCR. Since this process began in 2009, the Chinese government has increased its health care investment, paid increasing attention to medical and health care, and has also implemented a series of reform measures with the aim of solving existing problems. This finding is consistent with the research results of Guan Yongbin, Zhao Yinyin, Zhang Zhongfang and Chen Shiyi, who claim that the launch of NHCR can effectively promote the improvement of government health care efficiency, and also that China should persist with relevant NHCR policies [1,44,53,54]. For instance, Guan Yongbin et al studied the efficiency of China's medical and health care expenditure from 2009 to 2011 and Zhao Yinyin et al studied the performance of government health investment from 2010 to 2017. And their results consistently found that the efficiency of China's medical and health financial expenditure significantly improved after the NHCR. However, these studies also show that the efficiency of Chinese government health care expenditure is still not fully efficient, and also indicate that the average level is yet efficient and effective. This also suggests that government should pay much more attention to TC and improve the efficiency of government health expenditure by optimizing management and strengthening fund management.

With regard to the efficiency of the eastern, central, and western regions, our findings are inconsistent with Guan Yongbin and Zhao Yinyin. In this study, we found there was no obvious difference between the eastern, central, and western region in relation to efficiency, although the central region scored relatively highly.

Guan Yongbin found that the efficiency of government health care expenditure showed significant differences across separate regions, and also noted the eastern region when compared with the central and western regions, had a higher relative efficiency level [55]. This was because Guan Yongbin used the standard DEA that analyses static efficiency; however, the efficiency changes when the Malmquist DEA is used. The inconsistency of the research results mainly lies in the different connotations and emphases presented by the two aspects. Otherwise, Tobit regression showed that efficiency is not related to the regions. This study uses the Malmquist DEA to evaluate and compare the efficiency of provincial government health care expenditure in the period 2004–2019. The TFP, EC, TC, PEC and SEC in the period 2004– 2019 are analyzed. The results show that the average TFP of provincial government health care expenditure was always lower than 1 in period 2004 to 2019; meanwhile, the average TFP of each province was lower than 1. This indicates that the overall average efficiency of government health expenditure is always low after NHCR. In each region, TFP improved after the implementation of NHCR, but it still failed to reach frontier efficiency. The average TFP of Tibet, Shanxi, Fujian, Guangdong and Hebei ranked in the top five in the country before the implementation of NHCR. However, the average TFP of the five provinces ranked behind the whole country, and Tibet showed a particularly sharp descent, dropping from first to last after NHCR implementation. Tibet, which is part of the western region, has low population density, low per capita GDP and an underdeveloped economy. Its level of regional economic development continues to limit government investment, the construction of medical institutions and the influx of medics to the western region. This is consistent with Liu Zimin (2014), who suggests that inefficiencies in the western region are affected by economic, geographic and social

factors that include population density, per capita GDP, illiteracy, urban population proportion and total raising ratio [56]. Although the TFP of these five provinces decreased, the TC increased after NHCR implementation. However, the PEC of these 5 provinces were lower than the SEC, and this indicates they did not pay attention to technological improvement after NHCR. The SEC in the other four provinces, with the exception of Tibet, increased after NHCR. Irrespective of NHCR, the TFP of Zhejiang and Jiangsu ranked first of the 31 provinces. Meantime, the TC and PTC of Zhejiang and Jiangsu improved after NHCR, and this may be related to their focus on technological improvement. Jiangsu and Zhejiang provinces are part of the eastern developed regions, in the term of the construction of medical institutions, the number of health and technical personnel, and health management, has a congenital advantage. When the government increases its investment, the two provinces will be able to catch up, reasonably increase their input and output, and focus on technological change and improve managerial efficiency. This will enable the two provinces to maintain a high level of efficiency.

This study found that per capita GDP, population density and the implementation of NHCR are related to government health care expenditures. These findings are consistent with the conclusions of Han Huawei [52], who claims that per capita GDP helped to promote government health care expenditure. With regard to demographic characteristics, Grossman claims that the costs of management and supervision are negatively correlated with an area's population density, and claims this leads to the problem of economies of scale [57]. This means that the provision of public services to an increasing number of residents will produce economies of scale, which will in turn produce improvements in spending efficiency.

Athanassopoulos et al find that population density had a negative impact on government efficiency [58], but this is challenged by Chen Shiyi, who claims that it is positively correlated with government health care expenditure [44]. This confirms that when more people are in an area, the scale economy effect of government expenditure will be more significant. In addition, it will also be more convenient for local government to organize and provide a public consumption service network. But Han Huawei, in referring to government health care expenditure, claims that: 1) population density has a weak negative impact; 2) fiscal decentralization has a negative impact; and 3) a high illiteracy rate helps to promote government health care expenditure [52]. The influence of population factors on the efficiency of government public expenditure is mainly manifested in population density and the urban and rural population structure.

Theoretically speaking, when a region has a larger population per unit area, the local public service network will be closer, the scale economy effect of government public expenditure will be more significant and government public expenditure will be higher. But when a region has a higher urbanization level, the scale economy effect of government public expenditure will be more significant, and this may be more conducive to improvements in the efficiency of government expenditure [54]. Qin Shikun shows that per capita GDP, urbanization rate and population density do not significantly affect total factor productivity [59]. Some researcher find that education can improve the efficiency of local government health care expenditure in a positive way [60,61], and it is generally believed that higher levels of per capita GDP or wealth will positively affect spending efficiency because wealthier residents will put more pressure on local authorities to meet the level of demand for efficient public services [54]. But Eeckaut and DeBorger suggest that high-income areas will lead the government to support idle workers, meaning that the government will lose the incentive to introduce control costs and efficiency will worsen [62].

Migue and Belanger find that the efficiency of government expenditure can be improved if variables that help to explain residents' ability to supervise the government are introduced

[63]. Qin Shikun claims that fiscal decentralization and the improvement of the education level are positively correlated with the TFP of government medical and health care expenditure, and also asserts that the illiteracy rate is negatively correlated with the TFP of government medical and health care expenditure.

Conclusion

This study provides a number of clear policy recommendations. First, with regard to fiscal policy, local governments in eastern China should seek to eliminate efficiency loss by optimizing government expenditure structure; provinces in western China, meanwhile, should increase government health investment with the aim of improving their efficiency.

Within the existing institutional framework, moderate fiscal centralization will help improve the efficiency of government health care expenditure, and the transfer of fiscal expenditure responsibility to the higher level of government should therefore be considered.

Second, from a health policy perspective, a deepened reform of the health care system and the rational allocation of various health resources will help to improve the efficiency of health care expenditure in China. Last, but by no means least, China should continue to implement the NHCR. However, it should not just focus on final expenditure but should give much greater consideration to technological reform.

Supporting information

S1 Dataset. (XLS)

S2 Dataset. (XLS)

Acknowledgments

The authors would like to express their gratitude to Edit Springs (<u>https://www.editsprings.</u> com/) for the expert linguistic services provided.

Author Contributions

Conceptualization: Xuesong Guo, Jun Zhang. Data curation: Jun Zhang, Xin Cong. Formal analysis: Jun Zhang, Zhiwei Xu. Funding acquisition: Jun Zhang. Investigation: Zhiwei Xu, Xin Cong. Methodology: Jun Zhang, Zhenli Zhu. Project administration: Xuesong Guo. Resources: Zhenli Zhu. Software: Zhiwei Xu, Zhenli Zhu. Supervision: Xuesong Guo. Validation: Xuesong Guo, Zhiwei Xu, Xin Cong, Zhenli Zhu. Visualization: Zhiwei Xu. Writing - original draft: Jun Zhang.

Writing - review & editing: Xuesong Guo.

References

- Gong G, Chen Y, Gao H, Su D, Chang J (2019) Has the Efficiency of China's Healthcare System Improved after Healthcare Reform? A Network Data Envelopment Analysis and Tobit Regression Approach. International Journal of Environmental Research and Public Health 16. <u>https://doi.org/10.3390/ijerph16234847</u> PMID: 31810260
- 2. Jun Y (2016) A Rearch on the Reform of Chinese Basic Medical and Healthcare System [D]: Suzhou University.
- 3. Min IZ, Xinzhu Z (2012) The Dynamic Efficiency and Convergence of China Government Health Investment-Based on Modified Malmquist Index Method. Soft Science 26: 50–56.
- Hadad S, Hadad Y, Simon-Tuval T (2013) Determinants of healthcare system's efficiency in OECD countries. The European Journal of Health Economics 14: 253–265. <u>https://doi.org/10.1007/s10198-011-0366-3 PMID: 22146798</u>
- 5. Abolghasem S, Toloo M, Amézquita S (2019) Cross-efficiency evaluation in the presence of flexible measures with an application to healthcare systems. Health Care Management Science.
- Li Q, Tian L, Jing X, Chen X, Li J, et al. (2020) Efficiency and scale effect of county public hospitals in Shandong Province, China: a cross-sectional study. BMJ open 10: e035703–e035703. https://doi.org/ 10.1136/bmjopen-2019-035703 PMID: 32540890
- Vargas Bustamante A, Fang H, Garza J, Carter-Pokras O, Wallace SP, et al. (2012) Variations in healthcare access and utilization among Mexican immigrants: the role of documentation status. Journal of immigrant and minority health 14: 146–155. <u>https://doi.org/10.1007/s10903-010-9406-9</u> PMID: 20972853
- Weatherall J, Simonsen J, Odlaug BL (2020) The relative efficiency of schizophrenia health care systems: an international comparison using data envelopment analysis. Journal of Medical Economics: 1– 1. https://doi.org/10.1080/13696998.2019.1678170 PMID: 31589081
- 9. Qian Z-W, Wan G-S, Du X-L, Shi Y-F, Huang G (2018) Performance Evaluation of Digital Marketing in Health Care Industry with the Application of Data Envelopment Analysis. Revista De Cercetare Si Interventie Sociala 60: 39–50.
- 10. Top M, Konca M, Sapaz B (2020) Technical efficiency of healthcare systems in African countries: An application based on data envelopment analysis. Health Policy and Technology 9: 62–68.
- Matranga D, Sapienza F (2015) Congestion analysis to evaluate the efficiency and appropriateness of hospitals in Sicily. Health Policy 119: 324–332. https://doi.org/10.1016/j.healthpol.2014.12.012 PMID: 25561357
- Kounetas K, Papathanassopoulos F (2013) How efficient are Greek hospitals? A case study using a double bootstrap DEA approach. The European Journal of Health Economics 14: 979–994. https://doi. org/10.1007/s10198-012-0446-z PMID: 23229820
- Yusefzadeh H, Ghaderi H, Bagherzade R, Barouni M (2013) The Efficiency and Budgeting of Public Hospitals: Case Study of Iran. Iranian Red Crescent Medical Journal 15: 393–399. <u>https://doi.org/10.5812/ircmj.4742</u> PMID: 24349726
- Hadad S., Y., Simon-Tuval T. (2013) Determinants of healthcare system's efficiency in OECD countries. EUROPEAN JOURNAL OF HEALTH ECONOMICS. https://doi.org/10.1007/s10198-011-0366-3 PMID: 22146798
- Ferruccio Pelone, Dionne Sofia, Kringos, et al. (2012) The measurement of relative efficiency of general practice and the implications for policy maker. Health Policy 107: 258–268. <u>https://doi.org/10.1016/j. healthpol.2012.05.005 PMID: 22776264</u>
- Sheikhzadeh Y, Roudsari AV, Vahidi RG, Emrouznejad A, Dastgiri S (2012) Public and Private Hospital Services Reform Using Data Envelopment Analysis to Measure Technical, Scale, Allocative, and Cost Efficiencies. Health Promotion Perspectives 2.
- Varela PS, Martins GDA, Fávero LPL (2010) Production efficiency and financing of public health: an analysis of small municipalities in the state of So Paulo—Brazil. Health Care Management Science 13: 112–123. https://doi.org/10.1007/s10729-009-9114-y PMID: 20629414
- 18. Hatam N (2008) The Role of Data Envelopment Analysis (DEA) Pattern in the Efficiency of Social Security Hospitals in Iran. Iranian Red Crescent Medical Journal 10.
- Linna M, H?Kkinen U, Magnussen J (2006) Comparing hospital cost efficiency between Norway and Finland. Health Policy 77: 268–278. https://doi.org/10.1016/j.healthpol.2005.07.019 PMID: 16129509

- Xu M, Shan L, Zhong H, Li Y, An X (2019) Evaluation of the scientific research efficiency of 100 tertiary hospitals and the influencing factors analysis based on Bootstrap DEA-OLS model. Chinese Journal of Hospital Administration 35: 141–145.
- Liu J, He B, Xu X, Zhou L, Li J, et al. (2019) Determinants of efficiency growth of county-level public hospitals-evidence from Chongqing, China. Bmc Health Services Research 19. <u>https://doi.org/10.1186/s12913-018-3815-1 PMID: 30621678</u>
- Gai RY, Zhou CC, Xu LZ, Zhu M, Tang W (2010) Health resource allocation and productive efficiency of Chinese county hospitals: data from 1993 to 2005. Bioscience Trends 4: 218. PMID: 21068473
- Sajadi HS, Goodarzi Z, Takian A, Mohamadi E, Olyaeemanesh A, et al. (2020) Assessing the efficiency of Iran health system in making progress towards universal health coverage: a comparative panel data analysis. Cost Effectiveness and Resource Allocation 18. https://doi.org/10.1186/s12962-020-00213-z PMID: 32477010
- Garcia-Cornejo B, Perez-Mendez JA (2020) Influence of cost systems on efficiency. An analysis of Spanish hospitals using public national databases. Revista De Contabilidad-Spanish Accounting Review 23: 249–262.
- 25. Wang W, Chen T (2020) Efficiency Evaluation and Influencing Factor Analysis of China's Public Cultural Services Based on a Super-Efficiency Slacks-Based Measure Model. Sustainability 12.
- Berger M, Sommersguter-Reichmann M, Czypionka T (2020) Determinants of soft budget constraints: How public debt affects hospital performance in Austria. Social Science & Medicine 249. https://doi.org/ 10.1016/j.socscimed.2020.112855 PMID: 32109755
- Babalola TK, Moodley I (2020) Technical efficiency and productivity of public district hospitals in Kwa-Zulu-Natal province, South Africa. Journal of Public Health Research 9: 47–56. <u>https://doi.org/10.4081/jphr.2020.1741</u> PMID: 32617280
- Munuswamy SVB, Lokachari PS (2019) Health Management Information Systems in Public Hospitals of Tamil Nadu, India: Productivity Analysis Using Malmquist Index. 9 pp. –9 pp. p.
- Zuniga Gonzalez CA (2020) Total factor productivity growth in agriculture: Malmquist index analysis of 14 countries, 1979–2008. Reice-Revista Electronica De Investigacion En Ciencias Economicas 8: 68– 97.
- Vicente Blanco-Orozco N, Arce-Diaz E, Zuniga-Gonzales C (2015) Integral assessment (financial, economic, social, environmental and productivity) of using bagasse and fossil fuels in power generation in Nicaragua. Tecnologia En Marcha 28: 94–107.
- Dios-Palomares R, Alcaide D, Diz J, Jurado M, Prieto A, et al. (2015) Analysis of the Efficiency of Farming Systems in Latin America and the Caribbean Considering Environmental Issues. Revista Cientifica-Facultad De Ciencias Veterinarias 25: 43–50.
- Aguilar AJ, González CAZ, Palomares RD, Figueredo PS, Figueredo OJ (2014) Environmental Technical Inefficiency Effects on Estero Real quality water: A Nicaragua Case. Universitas 5: 17–32.
- Zuniga Gonzalez CA (2011) Technical efficiency of organic fertilizer in small farms of Nicaragua: 1998– 2005. African Journal of Business Management 5: 967–973.
- González CAZ (2011) Impact of Deforestation on the Sustainable Local Development of Households: Nicaragua, 1998–2005. Revista Encuentro 43: 43–88.
- Dios-Palomares R, Alcaide D., Diz J., Jurado M., Guijarro A. P., Martinez Paz J., et al. (2015) Environmental aspects in the analysis of efficiency. Ibero-American Journal of Bioeconomy and Climate Change 1: 88–95.
- Bannick RR, Ozcan YA (1995) Efficiency analysis of federally funded hospitals: Comparison of DoD and VA hospitals using data envelopment analysis. Health Services Management Research 8: 73–85. https://doi.org/10.1177/095148489500800201 PMID: 10143981
- Kohl S, Schoenfelder J, Fügener A, Brunner JO (2019) The use of Data Envelopment Analysis (DEA) in healthcare with a focus on hospitals. Health Care Management Science 22: 1–1. <u>https://doi.org/10. 1007/s10729-017-9417-3 PMID: 28871511</u>
- 38. Ozcan YA (2014) Health Care Benchmarking and Performance Evaluation: Springer.
- 39. Charnes A, Clark CT, Cooper CW, Golany B (1984) A developmental study of data envelopment analysis in measuring the efficiency of maintenance units in the U.S. air forces. Annals of Operations Research 2: 95–112.
- 40. Färe R, Grosskopf S, Lindgren B, Roos P (1992) Productivity changes in Swedish pharamacies 1980– 1989: A non-parametric Malmquist approach. Journal of Productivity Analysis 3.
- Charnes A, Cooper WW, Rhodes E (1979) Measuring the efficiency of decision making units. European Journal of Operational Research 2: 429–444.

- Banker RD, Charnes A, Cooper WW (1984) SOME MODELS FOR ESTIMATING TECHNICAL AND SCALE INEFFICIENCIES IN DATA ENVELOPMENT ANALYSIS. Management Science (pre-1986) 30: 1078.
- **43.** Färe R, Grosskopf S, Norris M, Zhang Z (1994) Productivity Growth, Technical Progress, and Efficiency Change in Industrialized Countries. The American Economic Review 84.
- **44.** Shiyi C, Jun Z (2009) Empirical research on fiscal expenditure efficiency of local governments in China: 1978–2005. Social Sciences in China 30: 21–34.
- Moran V, Jacobs R (2013) An international comparison of efficiency of inpatient mental health care systems. Health Policy 112: 88–99. https://doi.org/10.1016/j.healthpol.2013.06.011 PMID: 23891192
- Medin E, Anthun KS, Häkkinen U, Kittelsen SAC, Linna M, et al. (2011) Cost efficiency of university hospitals in the Nordic countries: a cross-country analysis. European Journal of Health Economics 12: 509–519. https://doi.org/10.1007/s10198-010-0263-1 PMID: 20668907
- Wang Y, Meng Q, Wang H (2015) Medical service efficiency of public county traditional Chinese medicine hospitals and its influencing factors in Shandong province. China Journal of Public Health 31: 706–709.
- Wagstaff A, Yip W, Lindelow M, Hsiao WC (2010) China's health system and its reform: a review of recent studies. Health Economics 18: S7–S23.
- **49.** Luis Franco-Miguel J, Fullana-Belda C (2020) Influence of the management models based on publicprivate collaboration in the technical and research efficiency of hospitals of the public health system. Revista De Contabilidad-Spanish Accounting Review 23: 50–63.
- Yingying X, Yong L (2019) Influencing Factors and Countermeasures of Medical Treatment Choice in Outpatients of Jiangsu Province. Chinese Journal of Drug Evaluation 36: 411–415.
- 51. Castaldo A, Antonelli MA, Bonis VD, Marini G (2020) Determinants of health sector efficiency: evidence from a two-step analysis on 30 OECD countries. Economics Bulletin 40.
- 52. Huawei H, Yanqing M (2010) An empirical study on local government health expenditure efficiency accounting and influencing factors: A DEA-Tobit analysis based on panel data of 31 provinces in China. Finance Research: 5-16-40.
- Yinyin Z, Liqing L (2019) Research on the performance analysis of government health investment: based on DEA-Malmquist. Chinese Health Economics 038: 26–29.
- 54. Zhongfang Z (2013) Fiscal decentralization, health reform and efficiency of local government health expenditure: Measurement and demonstration based on provincial panel data. Finance & Trade Economics.
- 55. Yongbin G (2015) Evaluation of the efficiency of China's health care financial expenditure since the new health care reform: 2009–2011. Journal of Nanjing Party Institute of CPC: 20–27.
- 56. Zimin L, Xinzhu Z, Yangdan (2014) Research on Efficiency Change of Chinese Government Health Investment: Based on Panel Three Stage DEA Model. JOURNAL OF CENTRAL UNIVERSITY OF FINANCE & ECONOMICS 1: 97–104.
- 57. Philip Grossman, and, Panayiotis Mavros, et al. (1999) Public Sector Technical Inefficiency in Large U. S. Cities. Journal of Urban Economics.
- Athanassopoulos Triantis (1998) Assessing Aggregate Cost Efficiency And The Related Policy Implications For Greek Local Municipalities. INFOR: Information Systems and Operational Research 36.
- 59. Shikun Q (2018) Efficiency evaluation and influencing factors of health care financial expenditure in China: Qingdao University. PMID: 30644694
- Milligan K, Moretti E, Oreopoulos P (2004) Does Education Improve Citizenship? Evidence from the United States and the United Kingdom. Journal of Public Economics 88: 1667–1695.
- Afonso A, Aubyn MS (2006) Cross-country efficiency of secondary education provision: A semiparametric analysis with non-discretionary inputs. Economic Modelling 23: 476–491.
- DeBorger B, Kerstens K (1996) Cost efficiency of Belgian local governments: A comparative analysis of FDH, DEA, and econometric approaches. Regional Science and Urban Economics 26: 145–170.
- **63.** Migué J-L, Bélanger G, Niskanen WA (1974) Toward a General Theory of Managerial Discretion. Public Choice 17.